Smart ick Cci" Smart ick id
AKUVOX ntercom Quick Guide AKUVOX intercom Quick Guide
Installation .
I Unpacking
— . . — Before you begin using the device, please check the version you got and ensure that the following
I I items are included in the shipped box:
o —o» T . »
EC32 x 1 Key x 1
Placethe EC32in  TakedowntheEC32,and Insertfour M4 Fix the EC32 with Finish.
the position where use a hand drill with 3mm  self-tapping screws,  four M4
it needs to be diameter, and the hole and reserve about2  self-tapping ) ) .
installed and mark  depth should be mm. screws. Note:Please prepare four M4x20 self-tapping screws or longer M4 self-tapping screws by yourself.
fourholesofthe  determined according to
back coveronthe  the length of M4 screw
wall. selected. . -
Device Wiring
Configuration
1. Access the Akuvox Intercom website: launch a browser and type in the IP address of R29/R20A then T-ﬁ [ !
enter the username and password to login. (username/password:admin/admin by default) ‘ ‘ A10
2. Set up Lift access control function: on web Ul of R29/R20A, go to the path: Intercom > Lift Control > Yor N ) Y M Yo M 500 N Yo w y |_D_
Akuvox EC32 Action and fill the username and password of EC32.
3. Setting user access rights: on web Ul of R29/R20A, go to the path: Intercom > Card Setting or go to the Neworcport [ | N | - ‘ ‘ - | - | - ‘ ‘ - | - | " ‘ ‘ - | ~ | . ‘ | ” | " | " ‘ [1s]
path: Intercom > Private Key (R29 only) or go to the path: Intercom > Face (R29 only) to set up the Lift [11] [+2] 1]
Floor Number for the corresponding user.
4. Access the EC32 website: launch a browser and type in the IP address of EC32 then enter the username [e]
and password to login. (username/password: admin/888888 by default) e [2][=][¢]
5. Set up relays’ s delay time: on web Ul of EC32, go to Config page to set the Intercom open time as your e =] ][
neec a3 I 0 e
6. Disable Auto reboot: on web Ul of EC32, go to Hardware > Device > Restart everyday page to disable the 2/
auto reboot. This Setting is enabled by default. N M M N ’ N m_
Notice Information ‘
Information contained in this document is believed to be accurate and reliable at the time of printing. This document is l 3
subject to change without notice, any update to this document can be viewed on Akuvox’ s website: http://www.akuvox.com 12VDCIA
© Copyright 2021 Akuvox Ltd. All rights reserved. Power Supply
AKUVOX (XIAMEN) NETWORKS CO., LTD.
ADD: 10/F, NO.56 GUANRI ROAD, SOFTWARE PARK II, XIAMEN 361009, CHINA
|ITAWTY
Y¥S32000011
B AR ZEXR
1. U EZ & R —
(=N AY A b
IR 2.1 [ 12035 # 1 AT 4R 1 002906 bl
=
3.M&mE R ~F180x130mm (I N V10
LY 2 .
4.7 R EZE RN G A S beana | woes | wn | o EC32 AKRRRHE %% T Jiit
JEmEZWTHING A= = — — — =
% il | BAZA 2021.10.25 S SN EEE AT
HH | BOEE 20211025 / / /
1. 2
91k JE 1 5K
brditt | & % 20211025 Bl =, - s B
A L #H5: ¥532000011 7 TR 4 B A
it dE § SBEE 20211025




